1 MBEBE L GEERMRLU EOLD)

(HAZ: N)
X5y FRE| RIS | RIS | SERLTAREE | SERCISHREE | R 194
+ i 10,658 10,605 10,709 16,674 16,808
;; % = 11,110 11,171 11,278 17,925 18,096
%% EHE PE 1,284 1,466 1,443 2,918 2,849
B i 23,052 23,242 23,430 37,517 37,753
(B & L]
2 FHER (BUERBLY)
(BN F1)
X5 R | SERCISAREE | SERRLGAREE | SERRITAREE | SERRISAEE | SERR 194
+ i 1,446,997  1,512,224|  1,613,874| 1,913,936 1,960,993
;; % =B 1,807,872 1,952,264 2,185,776 2,391,373 2,497,224
é% TEH& e 1,831,164  1,942,707|  1,970,462| 2,792,644 3,021,312
B G 5,086,033  5,407,195|  5,770,112| 7,097,953 7,479,529
S 6,144 8,697 9,115 13,114 12,533

ARG ISAEE LLRIL, R BR BRI A KE
R L9 1 X 4 f)R AE%E
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3 THRIER CERR194E )

Hi % () woooE Mm%
HiL <oy | )
S| A oA | iR | ABLALLE | R [mBloR
— & M| 555,688] 18,030,940 659,315 17,371,625 1,564,116 55,625
il
gl +
AL 5 I8k 38,837 74,422 6,151 68,271 1,411,956 124,528
— % 4 572,486| 53,203,522 2,435,406 50,768,116 4,100,956 184,483
P 1
Il + .
AL 1 S 64,961 553,742 2,654 551,088 11,771,772 61,628
JINRARAE S 3,087,152 32,984 3,554,168 82,185,481 443,157
. — R A 5,490,566 4,463 5,486,103 92,212,278 66,441
e
Ml g v oo
7 5
(JEA 5 A ) 10,167,813 14,588 10,153,225] 120,875,371 22,726
= 1,167,188| 19,245,531 52,035 19,193,496] 295,273,130 532,324
i W 364,759 736,917 26,378 710,539 76,319 1,457
" — f% b Ak | 24,584,543| 30,037,110 4,391,661 25,645,449 683,873 100,716
E
I fE AR 50,656 196,136 2,760 193,376 370,939 4,594
e % 1,489 107,659 0 107,659 6,503 0
Ji 58 149,635 1,336,307 163,729 1,172,578 107,387 4,630
=)L 730 i 754,573 0 754,573 1,383,021 0
e | BREATE 6,314 46,930 10 46,920 1,408 0
i
i anli 6,328,762 4,137,593 109,250 4,028,343 28,375,745 33,561
=t 6,335,076 4,939,096 109,260 4,829,836 29,760,174 33,561
Z D, 26,233,300
&Ft 60,118,618] 128,461,382 7,849,349( 120,612,033 345,127,125 1,103,546
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(FH) 5% %) W 40 s (1)
AR DR
ol | PR R e s st | Bkl amianl 1| oM | Rms
1,508,491 1,564,116 3,549 20,512 989 19,523 87 145
1,287,428 181,057 332 170 16 154 18,972 37,719
3,916,473 4,100,911 4,446 65,675 3,897 61,778 77 117
11,710,144 1,388,098 220 1,210 19 1,191 21,259 56,181
81,742,324 9,907,959 30,004 539 29,465 22,911 87,465
92,145,837 23,399,443 26,204 237 25,967 16,795 87,465
120,852,645| 80,142,871 9,487 115 9,372 11,888 89,880
294,740,806| 113,450,273 3,792 65,695 891 64,804 15,342 89,880
74,862 76,319 108 505 33 472 104 145
583,157 683,873 2,991 27,212 4,810 22,402 23 28
366,345 208,903 252 617 24 593 1,891 5,500
6,503 6,503 3 8 0 8 60 70
102,757 73,002 450 2,619 326 2,293 80 15,840
1,383,021 884,729 0 98 0 98 1,833 2,100
1,408 1,408 30 128 1 127 30 30
28,342,184 18,277,439 3,989 7,692 457 7,235 6,858 65,519
29,726,613 19,163,576 4,019 7,918 458 7,460 6,025 65,519
72,219
344,023,579 140,896,631 92,381 192,141 11,463 180,678 2,687
A L]




4 F B CER19FE)
(1) FEWBFEE

- 5 —_— JZ ST i S BRSO = T S = =R A R Y -3
(m) (TH) (M)
S % 36,013 3,171,426 58,404,588 18,416
A& G R AR i 3,030 154,127 129,361 839
FblA L 32,983 3,017,299 58,275,227 19,314
i 5 13,999 3,649,225 124,034,464 33,989
ARIELISN B AR 219 7,945 15,374 1,935
Fafinill b 13,780 3,641,280 124,019,090 34,059
T 50,012 6,820,651 182,439,052 26,748
i S A A 3,249 162,072 144,735 893
bR b 46,763 6,658,579 182,294,317 27,377
R OB K =B 696 154,045 - -
| TR EIMAE (F) (BN S 720 fliks, ts FRIMEAE (%] 55
K i 18,487 100 FERPLAOK 200, 000H
AR IE 33,902 100 [ 0]
(2) AREFRIZBET 5
i oy | B % IR (E) NS E%ﬂi; 1% ﬁ&%%@ﬁﬂ%
g2 H £ = 13,942 1,538,149 48,445,545 31,496
EHE=Z - F@HES 998 124,789 3,046,750 24,415
o B E = 476 56,821 1,463,296 25,753
BOx = 3,730 428,319 877,709 2,049
A & S SR N 34 5,737 69,766 12,161
=B A - AT -0 Al 356 28,459 708,162 24,884
B % o B 16 2,121 71,996 33,944
/A S 0 0 0 0
T % B & 391 39,946 336,612 8,427
+ Jie 615 20,835 32,865 1,577
ik} e e 15,455 926,250 3,351,887 3,619
= & 36,013 3,171,426 58,404,588 18,416
B 0]
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(8) ARIELISOFERIZEET %M

i% e & R 7R ﬁ | O E i K | B Y 720 AR
A () (1) (M)
ka7 — M 5 16,613 1,794,185 107,999
% B2 70— i 104 63,866 3,404,738 53,311
%’% 7S H 5 833 206,368 10,430,274 50,542
B & B B & 386 37,105 811,303 21,865
?% NANRTE a2 7)) —hT a7k 17 1,070 13,038 12,185
& s D it 0 0 0 0
/I 7t 1,345 325,022 16,453,538 50,623
E a7 — i 3 8,537 516,676 60,522
@‘_g a2y — i 357 190,481 8,677,185 45,554
? £ B 5 1,340 236,284 10,448,973 44,222
Tom OB & B & 1,736 226,870 7,873,008 34,703
/,\ NARE 7)) — T w7 ik 103 6,456 87,928 13,620
k Z 73) fth 13 11,000 691,612 62,874
/Iy #t 3,552 679,628 28,295,382 41,634
ke — i 5 31,865 2,825,629 88,675
| W27 — 25 26,290 2,525,658 96,069
bt F7S H 1% 47 17,945 1,181,064 65,816
W B OB OB B & 3 888 9,450 10,642
T|nABE 2 7)) — Ty ik 1 12 569 47,417
v o i 0 0 0 0
/I 7t 81 77,000 6,542,370 84,966
RN /A N i 4 38,258 3,071,135 80,274
t]I% a2y — K& 170 33,500 3,393,968 101,312
" £ B 5 3,156 1,865,990 60,506,115 32,426
,’% B o= &% 5 & 2,195 228,308 1,195,153 5,235
M e A 502 18,958 95,784 5,052
g% z o 10 762 9,897 3,803
/Iy #t 6,037 2,185,776 68,265,053 31,231
B2 — i 1 18 1,074 59,667
B2 — b 135 5,978 171,129 28,626
Z 7S H 1% 1,310 275,445 3,883,213 14,098
DOl g & 8§ 5 & 1,042 79,231 351,602 4,438
fi NADRE a2 7)) — T ay ik 201 4,280 47,444 11,085
s 5) fth 295 16,847 23,659 1,404
AN EH) 2,984 381,799 4,478,121 11,729
= 5 13,999 3,649,225 124,034,464 33,989
(2R & L0 ]
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(4) HFHTF=RE

DX 4y | M 3 | P R 15 4R BE | O K 16 4R BE | O R 17 4R BE | SF R 18 A BE | S AR 1 9 4R B
A 182 228 204 225 287
I K & 149 136 173 254 216
B

it 331 364 377 479 503
AT 4F bb 102.8 110.0 103.6 127.1 105.0
NS 24,441 29,941 24,574 27,789 39,781
o i A | F A 80,995 20,278 40,401 74,265 51,851
(ot ) at 105,436 50,219 64,975 102,054 91,632
AT 4F bb 227.0 47.6 129.4 157.1 89.8
K 1,543,479 1,980,130 1,687,506 1,844,513 2,651,075
*TE | IR & 4,486,731 1,261,339 2,829,845 4,624,016 3,064,957
(@iﬁ ;éé) at 6,030,210 3,241,469 4,517,351 6,468,529 5,716,032
AT 4F b 215.1 53.8 139.4 143.2 88.4
(2 E 0]

(7)) RIEFHE R (R 84E LS )))
- - - Kom | R OE A Bﬂ?%ﬁi”ﬁ)ﬁ%

(nf) (T-H)

5o * g 208 30,315 2,134,784 88,914
[ FE = HOE & 11 4,802 289,591 76,144
o A * g 12 1,411 80,266 71,826
f % g 0 0 0 0
L= S S N A 0 0 0 0
=B pr - AT - I & 11 1,191 64,557 68,441
B % W B 1 71 3,737 66,465
7N P13 n % 0 0 0 0
T = 8 691 17,730 32,398
+ T 0 0 0 0
5} & e 36 1,300 60,410 58,683
& G 287 39,781 2,651,075 84,144
(2R & 0]
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() ARELAOHHI TR (K1 84 - )7)

iﬁ e & e 7S T = S 7 O = T < == R VA el S
H (ur) (Gal)) (1)
BB Y — & 0 0 0 0
5| & =y 70— k& 0 0 0 0
¥ S B i 12 2,148 176,832 82,324
F{T " & &% 75 & 1 10 519 51,900
JE (LA a2 — T ay o1 0 0 0 0
# = o 0 0 0 0
N 7t 13 2,158 177,351 82,183
gE sk ar ) — i 0 0 0 0
B gk =27V — b i 1 250 23,550 94,200
? 7S H 5 33 7,418 529,342 71,359
To® OB & B & 75 10,535 734,581 69,728
’,\ NABE L 7Y — T a2 ik 0 0 0 0
k Z D fth 0 0 0 0
/Iy t 109 18,203 1,287,473 70,729
BB sY — & 0 0 0 0
| =y 70— K& 0 0 0 0
bt (7S H 15 0 0 0 0
R B R OB & 0 0 0 0
T|nADBE 2 7)) — T ay ik 0 0 0 0
v o i 0 0 0 0
74N At 0 0 0 0
gE ek ar ) — i 0 0 0 0
t]I% Bmar sy — b 3 3,811 275,823 72,375
i 7S H 5 75 27,253 1,308,687 48,020
I 15 424 15,542 36,656
- A ar Y= T ey ik 0 0 0 0
g% z o 0 0 0 0
/Iy t 93 31,488 1,600,052 50,815
BE g ar s — i 0 0 0 0
a7 Y — b 0 0 0 0
Z 7S B i 0 0 0 0
DOl B ' B B & 1 2 81 40,500
fi NADRE a2 7)) — T ay ik 0 0 0 0
s D fth 0 0 0 0
/I 7t 1 2 81 40,500
= 5 216 51,851 3,064,957 59,111
(2R & L0 ]
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5 fHANE PERS

FE2 CERR194 %)

\ I, \ AROBLOAE M B oo N OER
. Yo Ml oM | B Ewml_ i
T ¥ AR HED B B 2 0 LSk D,
EOWM AT 58
(TH) (T o (T H) (TH)
L 29,293,031 28,267,383 543,567 27,723,816
m
R M K O E 135,385,172 132,932,776 4,554,656 128,378,120
n
il firs #h 93,485 68,872 24,613 44,259
1%
SELOM = B 0 0 0 0
%
PR H KON TE il B 1,072,682 1,072,682 0 1,072,682
E
U | T B, &85 & OV & 23,118,837 23,118,688 449 23,118,239
7z
Y- 0 0 0
D)
71N 3 188,963,207 185,460,401 5,123,285 180,337,116
o] I N =R S 38,481,318 29,932,263
5
N ) 716,813 700,244
yr .
2 /N 2t 39,198,131 30,632,507
= 3 228,161,338 216,092,908
oy | R 2 216,092,908
P sy 0
(R & L]






